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Int

1=123;

int

I;
I=0173;
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int

I;
I=0X7B;
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/> BHMEHEE int const.c JAVNHEE*/
#include <stdio.h>
INt main()

1

Int I

1=123;
printf("%d¥n",i);
1=—0173;
printf("%d¥n",i);
I=0X7B;
printf("%d¥n",i);

return O;
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double

NUEEETHTS 1234\\\\\\\‘

e EX BT 1234e-2 —

B 1234x107=123¢

e . EL/INIEEEDT 0.1234E+2
(Erk 0.1234x10% =12.34 )

RD3D(E. AVE1—FRTEHFo=KRILANEZEITD,

\N\

double d; double d; double d;
d=12.34; d=1234e-2; d=0.1234E+2;




$#32 (double E#EER)

/*double E#EER double const.c TIAVNEEE  */
#include <stdio.h>
Int main()

{
double d;

d=12.34;
printf("%6.2f¥n",d);
d=1234e-2;
printf("%66.2f¥n",d);
d=0.1234E+2;
printf("%6.2f¥n",d);

return O;
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AN 2 pow(edgel,2.0)

BMESA4T ) DEEE pow ZFIFALT
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[FREI] ZHESLDEIYETIE, BD/PMEE D IFUIVEToNS,

B - iNt/int  —p int
2
int i double taiseki;
int j double takasa;
double x- double teimen;
| = 7; _ _ _
j =2; taiseki = 1/3 * takasa * teimen;
X = 1/]; FOESHETOYTSLTIE,
FDE3ATOYS LT, takasa & teimen DOEIZEEH ST,

x OIEIL 3.0TH 5, taiseki M{EIF 0.0 TH5.
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X=7/2;
y=7%2;
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A=Al

X = a /b *c;

-a - b*-c;

ER

— x=(ab)*c O
x = a/(b *c)&lFES,

—_— y = (-a) -(b*(-c)) O

HEIANFETHNIL.
{EIlZE D> THATRLI=ZA DY,

X = (a/b) *c;

y = (-a) -(b*(-c));
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FEX priority.c 2AUFEEE >/

#include <stdio.h>
INt main()
{ Int a;

Int b;

Int C;

Int d;

Int  X;

int vy;

Int Z;

a=b;

b=4;

c=3;

d=2;

X=0;

y=0;

z=0;

/*DDL*/




/*DD=E*/
Xx=-a+b/c*d;

y=-(a+b/c*d);

z=-((a+b)/c*d);

printf("x= %3d , y=%3d, z=%3d ¥n",X,Y,2);

return O;
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radius=10.0;

radius radius
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area=3.14*radius*radius;

(nill
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area
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char int double
B ={EL
| RAREZEL
double = Int;
i = , Y THIEZS,

int = double;
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(R2AJLRAISER)

a2 (7—48) =

int - Int  J;
double d; double e;
d=1.2: 1=1;

i = (int) d; e = (doubie) J;
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Int a; Int a;

double b; . | double b;

double c; double c;

c=a*b; c= ((double) a) *b;

KEEFTIX,
OESS A= Eith 3 E - [V RE
(REAIVFEEIZ )
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ADJAVNERF BDEEH,
/1 C++; c=c+1;

c BlDEXH,
TOVAVNEBEF -- d--; d=d-1;
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stdio.h
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[FRENNFT)TOEy S ~DIERITIE.
W9 # TIELES,

"1 #include <stdio.h>
#include <math.h>

#define MAX 1000

SFE-JY7aveyHTE
TXRIZEZaAU 1 ZDF74LN,
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Hdefine

#define XFFI1 XF3F2
V—ADIEHDDXFINZTXFH2IEZT A S (ERT S, )

CHDEEZIVAEREFED,

XFH1zE=< o004,

XFH 277 O0R&REEND,
BEDRBERANT D26 KEE THIYI/OAITRNIXFE
AU E, (REAILIRBISHR)
451

#define M_Pl 3.14159265358979323846 /* pi */

math.nO P TIH FEZFRINTLVS,

27



#difinef5l

#define EPS (1.0e-5)
Int main()

1

yukou=data+EPS;

' FICNR

INt main()

1

yukou=data+(1.0e-5);

BEERDSMYT B0
#UET= (T D EC R
(RO F =) IE.
TEAIZITEITHE,
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#include
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Thb,

=3

#include <77A4ILA> |=p LXTFLAREELTLS
NYRIT7AILEEY AT

#Hinclude "J77AILEZ" | =P BHTEEAYET7AIL
HETRYAL
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KRG AVT T7ALIL
stdio.h: E#£EAHNH
( printf() , scanfQENMEZ S LTS, )

string.h: XX F 5| AL IE A
(strepy(), stremp(O)FENEZSHKIITEDH, )

stdlib.h: Z{EZ#. FEEIEIIYVETH
(atof(), mallocQFEMNMEZSEDIZHD, )

math.h:# = %H
(sm() cos(), sqrtQOFEDHFS4T 5 BE#H
E RSP S ] A
MZA T3 E—#EIZFES, )
(ANYET7PAILTEELTLSEHBERLAIZIE.
ANV AT AV ELZEDEH S,
ALV DEADEREEIARLTELELLY,)
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printf("141:¥n");
ORDXZFHNEEER AICH DT E5547F)E#E

tDEFEFEMAETHEDSE

diag=sqgrt(2.0)*edge*2.0;
Ilﬁu§ﬂ% sqQrt: FAHIEEZRH D173 EE

a=2.0;
diag=sqgrt(a)*edge*2.0;
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LVEZFE T Makefile

CC = gcc
all: EITI774ILE J—RT7AILHIG.cxRLN=ED)

e AL ATar BB T, MBS A1TSY
(MIATS))ZRANBY—RZEa /N IILTELLY,

MESATSYZRANBEZDMakefilelZLL TD LS5t 5,

CC = gcc
LDFLAGS=—Im
all: EITI774ILE J)—RT7AILHG.cERLN=ED)

(HAZ L REMSR)
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Makefile 151

CC = gcc
LDFLAGS——Im
all: ETI774IWLERA (J—RIT7ALILIG.cEERLN=2D)

Makefile

CC=gcc
LDFLAGS=-Im
all:heron
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/*

*/
/%

£ B :yyyy/mm/dd

{ERE : ANiE R ER

thEER-E - BOOBOXX

Y—ARX774)L:heron.c

E{TI74JL:heron

B AOCOAXEAVWCIATOEBEZRDSTOT T L
MFEHEMZHLNSHD T,
-ImDaAVINAIILA T AV BB E,

AN ZBEANDLILDESIFANT S,
ZADIE. EDOEHEL.
EDIEFICABDINTEHELLY,

HA - 5Z6onN=-8IDRIZHO>=ZAFOEIET
SEHNIZTH AT H, AMIEIXIEDER,

J0J S LKRKIERDR—DLIE >/




#include <stdio.h>
#include <math.h>

INt main()
1
/* ZRHEES */
double edgel; /*A1DERS*/
double edge2; /*A2D RS>/
double edge3; /*A3D RS>/
double heron d; /* A0 VOARHE
D—ERTFROLEE™>/
double area; /*3AROmIE>/

/*  RR=U~EK */

36




/*

/>  ANNE  */
printf("i21 DK I:¥n");
scanf("%lf",&edgel);
printf("A2N K =:¥n");
scanf("%olf",&edge?2);
printf("1I 3N KI:¥n");
scanf("%olf",&edge3);

RAR—I ik */
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/> TR ALE */
heron_d=(edgel+edge2+edge3)/2.0;

area=sqrt(heron_d*(heron_d-edgel)*
(heron_d-edge2)*(heron_d-edge3));

/>  Hham  */
printf("SAMDEIEIX %6.2f TI, ¥n",area);

return O;
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$gcc -Im heron.c -0 heron
$ ./heron

L1DES:

3.0
M2D K ; % T A 5
4.0 (F—HR—Fm5

~

/

TIPS Aﬁai&ds)
5.0

S3AOEmIEE 6.00T9,
$
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